PIRANHA OFFROAD PRODUCTS

‘Piranha Off Road products are not associated in any way with FCA Australia Pty Ltd or any of its related companies’

To Suit JEEP WRANGLER - JK

BTJWJK

N NorsumiLe OB
N FORSELFFIT

IPARTS INCLUDED WITH TRAY‘ FITTING INSTRUCTIONS
1 X Tray

6 X M8 Long The cradle fits passenger side cargo area
3 X M8 Wizlock 2 people'will’be needed to fit this tray
3 X M8 Washers

1. Remove carpet from rear P.S. cargo area

3 X M8 Rivnut 2. Remove bolt and place tray in. Align bolt & tray along floor (See figure 1)
1 X Standard Top Mount 3. Mark off tray where holes will need to be drilled (See figure 2 & 3)
2 X J Bolts 4. Drill: 3 bottom holes to 8mm

2 top holes to 11mm
Hole in upper arm to 11mm
Then put rivnuts into upper arm & two top holes (see figure 4)
5. Place carpet into position & mark for cutting (See figures 5 & 6)
6. Cut out carpet where tray sits on inner guard (See figure 7)
7. Place tray in behind carpet & bolt in using M8 bolts in top 2 holes & arm (See
figure 8)
8. Bolt lower 3 holes using M8 bolts, nuts & washers (See figure 9)
9. Make sure carpet is put back in properly, place in battery & secure with top

t
| RECOMMENDED 1SOLATOR | ENSURE POSITIVE TERMINAL IS ADEQUATELY COVERED

DBE140SF | TO PREVENT SHORTING
or Ensure, Before closing the bonnet that all items fitted
DBE180-5X have adequate clearance o—

FITTING INSTRUCTIONS © Automotive Ignition Systems Pty Ltd 2017 BTJWIJK



